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Seitz
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Schénwald
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Schlarb
Rither

Baier
Doffek
Doffek
Baier
Seitz
Baier

Donat
Rither
Ruther
Donat
Schénwald
Donat
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1. Satz 2. Satz 3. Satz 4. Satz 5. Satz
11 3 11 gl 11 5 3 0
11 7] 11 7 8 11 11 3 3 1
11 2 11 3] 11 3 3 0
11 9] 10 12 8 11 11 13 1 3
11 7] 11 5[ 11 3 3 0
4 11 11 8 5 11 7 11 1 3
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9 1
4 3
0 4
6 2
1. Satz 2. Satz 3. Satz 4. Satz 5. Satz
11 6[ 11 6] 11 3 3 0
11 1f 11 9] 11 8 3 0
11 3 11 6] 15 13 3 0
8 11 3 11f 12 10 7 11 1 3
11 4] 11 1] 11 4 3 0
6 11 6 11 9 11 0 3

Fir 3 bzw.
Teilnehmer
1.R. 2.R.
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0 3 5 g = 2 o 3 a Platz
1 Beck 2 4 0
2 Stohr 911 3 4
3 Rausch 8 2 2 3
4 Tiefel 4 3 1 2
5 Neu 121 0 4 4
6 0 0 0
1. Satz 2. Satz 3. Satz 4. Satz 5. Satz
Fir 5 bzw. 6 Teilnehmer
2 Stdhr Neu 11 7| 12 10| 12 10 3 0 %fg i? ilz i? 51;
3 Rausch Tiefel 9 11] 11 9 6 11 7 11 1 3 o_5 9.4 9-3 2-6 3-5
4 Beck Neu 11 9 11 4 11 5 3 0 3-4 3-6 5-6 4-5 4-6
5 Stohr Tiefel 2 11 9 11 6 11 0 3
7 Beck Tiefel 11 8 6 11 8 11| 11 31 11 51 3 2
8 Stohr Rausch

Tiefe
Beck
Rausch
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Kilian 3 013 1]0 of12 1| a 0
Seifert 3 10 1 3 a
Wenzel| © 3 2 121 0 4
Ertelt] O 3 6 7 2 2
Stierhof| 1 = 3 10 : 3|3 1
0 0 0 0 0 0

1. Satz 2. Satz 3. Satz 4. Satz 5. Satz

Fir 5 bzw. 6 Teilnehmer
Seifert Stierhof 7 11| 2 111 7 11 0 3 %fg i? ilz i? 51;
Wenzel Ertelt 9 11] 11 2 9 11 9 11 1 3 o5 24 9-3 2-6 3-5
Kilian Stierhof 11 2 11 7 10 12 11 5 3 1 3-4 3-6 5-6 4-5 4-6
Seifert Ertelt 5 11 8 11| 13 15 0 3
Kilian Ertelt 11 3 13 11| 11 4 3 0
Seifert Wenzel

Kilian Wenzel

Ertelt Stierhof
Kilian Seifert
Wenzel Stierhof




